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PART II / 9T II

MATHEMATICS / Tfora
A trader marks his items by increasing the |26. U& UUR 379t HEBﬁ 9 25% HoI SgIh

price by 25%. If he gives 4% discount on the
marked price, what will be his gain
percentage ?

(A) 10% (B) 15% 3
C©) 20% (D) 25%

Jfeha ean ® | 3 I7 sifhd o W 4% we
<A1 2, q IHH A e feeE 2w 2

KA 10% B) 15%
AC) 20% (D) 25%

The sum of three numbers is 392. The ratio of 27. ‘é“':" m@ﬁ- & zﬁm 392 % | qggﬁ qr @-ﬁ

first and second number is 2 : 3 and that of
second and third number is 5 : 8. Then the
first number is

(A) 120 (B) 60
(C) 100 (D) 80

HET H I 2 : 3 R AR gEA awr dwd
HAT HI UG 5: 87 | A RS G B

A 120 (B) 60
(C) 100 AD) 80

T_he.s largest four-digit nul'nber which can be 98. = 3w & 3@-‘@3@ e St 2 4,30,36 %

divided by 24, 30, 36 each is
(A) 9360 B) 9960
(C) 9840 D) 9620

If the mean and coefficient of standard

eI 4§ famfor &), s @ o

~A) 9360 (B) 9960
(C) 9840 (D) 9620

deviation of a set of data are 10 and 5 29, qﬁm%ww%mw ﬁ(mﬁw

respectively, then the standard deviation of
the data set is

IOk HHY: 10 3T 5 €, A TS F Tg @
e faeem g

(A) 50
e
T @A) 50
- B) 5
1

L @ 1
(D) 10 D) 10

1 4 1
If x°+ one 23, then the value of x* + —

x2 x* |30. aﬁ:x2+i=23€f,a‘rx4+—1—$rm%
is X2 x4
(A) 429 B) 629 _(A) 429 (B) 629
(C) 527 (D) 526 (C)r- 527 v i=c (D) 526
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31. Suresh and Sandeep are partners in a
business. Suresh puts ¥ 5,000 for 5 months

~ and Sandeep puts ¥ 6,000 for 6 months in the

business. At the end of the year how much
amount will Sandeep receive from a total
profit of ¥ 610 ?

(A) T 410 (B) < 380

(C) T 400 (D) < 360

32. Two numbers are in the ratio of 3 : 5 and their
LCM is 300. The smaller number is

(A) 75 (B) 60
(C) 90 . (D) 45

33. The value of \/15612+ \/154+ V225 18

(A) 115
(B) 125
(C) 99

(D) 110

34. The average of
nn+1),n+2),n+3),n+4),[n+5)

31. G T GEY Toh @ H WEEN & | QW A
5 U1 % foTT ¢ 5,000 a1 G619 A 6 118 &+ forw
T 6,000 STGHE § ST | 99 & 3F{d A T 610

% HA 9 A § T H fehan T 2
(A) T 410 (B) ¥ 380
(C) T 400 _A4D) T 360

32. amaﬁ'maagma 3:5 8 3 ITh1 @YW
THYEE (LCM) 300 % | B T 2

A) 75 “B) 60
(C) 90 (D) 45

J15612+ 154+ V225 FT AR R

(A) 115

C By 125 7
(C) 99

(D) 110

34. n,(n+1),n+2),n+3),n+4),n+5) Al é

4 e 2 %
2
A @+2) AR o L%Q
(B) 3(2n+5) ) rani D) % ’rl' i
© n+2 © “n 42 ""L%”'
(D) = &
. |:n+§} ;) [nﬂ“g}/
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35.

36.

317.

38.

(6)

If 1 is added to the denominator of a fraction,
the fraction becomes % If 1 is added to the
numerator, the fraction becomes 1. The sum of
numerator and denominatdr of the fraction is
A 21 B 5

© 1 (D) 14

Three different containers contain different
quantities of a mixture of milk and water,
whose measurements are 403 litres, 434 litres
and 465 litres. What biggest measure
(in litres) must be there to measure all the
different quantities exactly ?

(A) 41 B) 31

(©) 70 (D) 51

720 sweets were distributed equally amongst
the children in such a way that the number of
sweets received by each child is 20% of the
total number of children. How many sweets
did each child receive ?

A 11

(B) 15

©C) 12

D) 14

The smallest number by which 512 is
multiplied so that the product is a perfect cube
is

A 8
(C) 10

3 9
D) 7

35.

36.

37.

38.

QS-2

afs freht i 3 w i 1 g I &, @ P % :

2 v & | 2 f ¥ A 1 Sret S 8, @
firg 1 & 9 @ | firg & 3w 3 B ATHS

2 y
A 21 =5 51—
© 11 (D) 14

?ﬂqﬁa-ﬁaqﬁﬁﬁﬁ-ﬁaawaﬁ%qaaﬁt
st % fyor ¥, Romehl 7 408 A, 434 S
3 465 S & | s w9 (S H) 7
2 g, Ped wft R Rm TwEmel W
Ut =TT S Eh ?
(A) 41

(€) 170

«B)
(D)

31
51

720ﬁamﬁaaﬁﬁm-msamaﬁr
mzﬁ%%ma%ﬁﬁ?ﬁﬁmﬁaﬁé@r
aaﬁaﬁﬁdw%zo%%wﬁ?ﬁ%|

s T= 9 e et fareff 2
(A) 11
(B) 15
&
©) 12
D) 14

azfﬁ'&-ﬁ-@ﬁéwﬁémzégmmqt
T T T 0 O,
@ 8 Y ®) 9
D 17

() 10
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41.

42.

36 men can complete a piece of work in

18 days. In how many days will 27 men :

complete the same work ?
(B)
(D)

(A)
©

22 12

18 24

A sum was put at simple interest at a certain
rate for 2 years. Had it been put at 3% higher
rate, it would have fetched ¥ 300 more. The

‘sum is
(A) Z 5,000
\’\0
(B) T 5400 LR
i %
© % 5300 ¥
(D) % 5,500

A, B and C are shareholders in a company. K]
a certain year A got %rd share of the profit,
B received ith share and C got ¥ 5,000. Then

how much profit did A get ?
(A) ¥ 1,000 (B) < 4,000
©) (D) < 5,000

g 3,000

The height of an equilateral triangle whose
each side is 4 cm, is

39.

40.

42.

BN % i))@?

3

C

27
@7(

36 Sfth Th B 18%11?&1{1%'{93»%%1
27 =it 3t % @ fras A # @ w3

(A) 22 /(B) 12

© (D) 24 +—

-—

18

e gORT ETRe S W 2 Nt % fo R
Affe @ W @ o ? | A W 3% TER AW
fean S, @ < 300 aAfireh T BN | EAURT R

AK) ¥ 5,000 “
(B)
(©)

T 5,400
T 5,300

(D) < 5,500

A, B 3R ¢t Frrl § e (STURE) ¥ |
%@ﬁ@?ﬁﬁAaﬁmw 1 it firet, B

_sqmﬁwn Wcaﬁ%soooﬁﬁmazxﬁ

ﬁh—d:n e foe 2 ) S’a
(A) < 1,000 (B) ¥ 4,000 é
(&) ¥ 3,000 (D) T 5000 R

50
e wwTg Fge 1 S o vt R v
e 4 Tt B 2

@ A 6 2R

(A) 3 em (B) 243 cm
(C) 343 em (D) 443 cm ©) 343 &l /aaﬁ 443 adt
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43.

44.

45.

46.

35 cm, 40 cm and 45 cm respectively. The
approximate area of the triangle will be

(A) 67882 cm?
(B) 760-82 cm?
(C) 670-82 cm?
(D) 1762-82 cm?

Raghu travelled 1200 km by air which formed
—i—th of his trip. %rd of the whole trip he

travelled by car and the rest of the journey he
did by train. The distance travelled by the
train is

(A) 1800 km
(B) 480 km
(C) 1600 km
(D) 800 km

Vit

A researcher has collected the following
sample data :

5,12, 6,8,5,6,7,5,12,4,1
The median is
(A) 6 (B) T
(C) 8 (D) 5

If the sides of a triangle are in the ratio of
3: 4 :5 and its area is 216 sq. cm, then the
perimeter of the triangle is

(A) 76 cm (B) 84cm
(C) 80cm (D) 72cm

()/

L | 3 0 %Y
N @ Ry E Gty
| W= (S :

% (8) ON Qs
The lengths of the three sides of a triangle are [43. T& ﬁ‘ﬁ'ﬂ 1 ot 3'5113‘1}[ E3) T SPE:

35 quft, 40 T T 45 T § | B
BRI TS ]
) 67882 R
(B) 1760-82 Tt
© 670-82FH2 "
(D) 762-82 |HI?

44. Igﬁmoo%nﬁmmgaﬁaméa&\ﬁa‘r
mﬁwmgmammgaénmaﬂ

PR

L

%mwmw@mm_mmaa

# | T g q i T A H gl @
(A) 1800 fere :

(B) 480 foet

SO 1600 Terd

(D) 800 ferHty_—

45. T Muwal ¥ Fefafe gfeed emmst @

wshiad foma
'5,12,6,8,5,6,7,5,12, 4, 1:
~ /
ifee 8
Ay 6L B 7
(C) 8 D) 5

46, Iz T T H S H AT 3 : 4 : 5
3R 3T SF%e 216 91 A B, @1 BT &
i BT

4&) 76 gt (B) 84@l
() 8o&Ht 4Dy 729

/(‘70\ \ZC
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47. The LCM and HCF of two numbers are 520 |47. 2 FEa 1 THaH FHTEe (LCM) 520 3ﬂT
and 4 respectively. If one of these numbers is 34ehl HadH gHYEds (HCF) 4 3 Ife ?Hﬁ q
52, then the other number is Teh TEAT 52 E‘T, ar @'ﬁ &I 2
(A) 40 (Ay40 —
(B) 42 : (B) 42
(C) 50 (C) 50
(D) 52 (D) 52

48. The most frequently occurring value of a data | 48. m TR HI ey A TER A 1T qH

set is called as HEAT 8

(i
(A) mode (B) mean Ay SEh (B) HIEH
(C) median (D) range ©) wfere (D) UER

49. The average age-of 15 students in a class is |49 et e ¥ 15 faenfet & aa g 15 a9
15 years. Among this the average age of 2 Eor T 5 fenft & 3Ed g 14 af 2
|

5 students is 14 years and the average age of qoT 379 9 Tt afeq Y 16 ¥ ?
9 other students is 16 years. The age of the 159 faemef Y g H
15 student is «
AK) 147 < — (3
(A) 14 years e
_ A B) 119§ w3 9
(B) 11 years 5 L \ 1 o
2 © 152 ad ' ;

D) 15§ 9~ XS s

(D) 15 years 1 .
&

m@iq W 2
50. The area of a rhombus is 500 cm? and the 50. T =l 500 Ft % 3R Saa'_'
length of one of its diagonals is 25 cm. Then T ool wTE 25 T R | A9 @ ferapet

the length of the other diagonal is ED) (_*lﬁﬂﬁ '@"ﬁ

(A) 20 cm A7 20 BHI

(B) 50cm ‘ (B) 509t

(C) 40em ©) 403

(D) 30cm . (D) 30 At
‘ )‘\\7&)‘@90 SPACE FOR ROUGH WORK / T & & foTt WTg j—/d o
Q7 B e

A

e §RsK 1 = mfes S

ne T

T D 3
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PART III / \T 11X
GENERAL AWARENESS / ATHT A& R

When was Quit India Movement started by
Gandhiji ?

(A) 1940 (B) 1942

(C) 1945 (D) 1946

The most important cause for the outbreak of
the Ghadar revolution was the

(A) outbreak of World War I
(B) hanging of Kartar Singh Sarabha
(C) Komagata Maru incident

(D) arrest of Lala Har Dayal

Which of the following is an important
function of spinal cord ?

(A) Transferring substances
(B) Control respiration

(C)  Control of reflex actions
(D) Pumping of blood

Which amongst the following has the power to
remove the Vice-president from his post before
the completion of his tenure ?

(A) Rajya Sabha
(B) Supreme Court
(C) President

(D) Lok Sabha

Which one of the following is employed as a
tranquilizer drug ?

(A) Glucose (B) Ampicillin
(C) Aspirin (D) Valium

Mohiniattam dance form is associated with
the following state :

(A) Odisha (B) Kerala
(C) Karnataka (D) Tamil Nadu

51. TSk ¥ WRa orel o<ed ®§ ¥E R

o1
(A) 1940 /ﬂ/ 1942 |
(C) 1945 (D) 1946

52. TG < A BH I o Y@ SO FAT
o1 ?
(A) vuH fava gg s g L
(B) R g Tus it e o

(C) HHTTET °TE T
/(D) AT gleaTe i TR

53. frffed § & SH-E1 Helsg H T TE@l
FE 2?2
(A) TF TIET
(B) _va&d o

/<C)/Hﬁa?ﬁ%m3ﬁ$rﬁzim/
(D) T 1 900 :
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A
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57.

58.

59.

60.

61.

62.

(C)

(4.

National Income is also called

(A) NDPyp (B) NDPgc
(C) NNPyp (D) NNPpe
The Badminton Championship -  Swiss
Grand Prix Gold was won by on

15 March, 2015.

(A) K. Srikant

(B) Abhimanyu Singh
(C) Sameer Verma
(D) Saina Nehwal

Kabini, Hemavati and Amaravati are the
tributaries of the river

(A) Mahanadi
(B) Krishna
(C) ~Cauvery
(D) Godavari

The prominent women freedom fighter who
participated in the first freedom rebellion of
1857 was

(A) Kasturba Gandhi
(B) Bhikaji Cama
Sarojini Naidu

(D) Begum Hazrat Mahal

is the distance between any two
nearest particles of the medium, vibrating in
the same phase.
(A) Wavelength
(B) Frequency
(C)
(D)

Velocity

Amplitude
model proposes urban

infrastructure and services be provided in

rural hubs to create economic opportunitieé

outside cities.

(A) Mahalanobis

(B) PURA

(C) Gandhian

(D) LPG

57. TSR AT ! TT: FHaT A€l 3

(A) NDPyp MDPFC‘

(C) NNPyp (D) NNPpg L—

15 1T, 2015 ! Sefied Sz — fag uie
e Mieg &1 fasiar =4 o1 2

(A) &. Hfrwa “—

(B) iy fog

(C) =R gut

< (P gTE1 dgaTd

59. eI, BESEd IR Ed SH-E T
e Afeat 8 2
(A) HEFS
(By PN
(C) wEft L
(D) e
1857 &% Yu9 wWaIdl fagg ¥ W @9 aref
i Afge rdsar QA 1 off 2
(A) HEqar e
(B) HiehTeit T
(C) R g
TUE Wl § HEEHE, WEAH % fhedl o
Ha@ fhean o & 9 A gl et
2 ‘
o e
B R
(©) am
AD) ImaH

62. WEU & g AfIF FEw wH F U
__ Hied Wl IMumYd "EA 3R
- FaTd grfior i § w1 S T S W@t
7
(A) WETEAISH
Mﬂ'ﬂ(PURA) \/
(C) e
(D) A9, (LPG)

58.

60.

61.
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64.

~ 65.

66.

67.

68.

(12)

Which country has recently conducted the
fourth successful test of a new Wu-14
hypersonic strike vehicle capable of delivering
nuclear weapons ?

(A) India
(C) Russia

(B)
(D)

China
U.S.A.

is used to convert mechanical
energy into electrical energy.

(A) - (B)
© (D)

Dynamo Microphone

Electric Motor Battery

Which one of the following countries is in the
second place in the world in producing paddy ?

(A) China (B) U.SA.
(C) Russia (D)  India

has been honoured with the ‘Best
Welfare Organisation of the Year, 2015’
award.

(A)
(B)
©)
(D)

Indian Community Welfare Organisation
Indian Railway Welfare Organisation
Smile Foundation

National Union of Seafarers of India

Who amongst the following was known as
“Loknayak” ?

(A) C.F.Andrews

(B) Jayaprakash Narayan

©
(D) Ashutosh Mukherjee

Chittaranjan Das

Almost half of India’s population lives in just
five States. Which one of the following is not
one of these five populous States ?

(A) Bihar
(B) West Bengal
(C) Kerala

(D) Maharashtra

QS-2 :

63. mﬁﬁ%&r%ﬂﬁmv&}u-uaﬁwﬁmm
I H =T THA TG0 R S owE e
e i § T 2 2

AR T ey =T
© ®F (D) FTET

64. i Tt F A o § =T BA F e
. wmyEmfEm e g

&) TEAH T (B) UEHBN

(€) fomq A (D) &

frafafes & @ #98 29 = S9r § 9m

IS § gHT T R 2

& < - A8 F Y.

(C) &4 —D) ¥Rqa,_—

65.

66. GY 2015 % HAH HeIAN WA YEHR F

i gEig foRam |
) 3T A aaha AR
~ (B) 3feTH T IR AR
(C) A BIRSIH ;
\_AD) T IR T i a1 gfoea

67. F=fafes 3 3 fomst “TFams” % w9 #
ST SATET 91 2

(A) HI.U%. TZgF
~ (B SN I ——
©) T =
(D) ITRA gt
A &t T et SeEeE ®E gfE usal |
&t ® | F=fofes § & 9931 = = i w
TGS 9T TSIl H Y 7EF 2 2
A fwr
(B) ufvem e
] wE L
(D) HERTSG

68.



QS-2
69.

70.

71.

72.

73.

74.

75.

Who amongst the following was the leader of
the Peasant Movement of Awadh ?

~Baba Ram Chandra

(A)
(B)
©
(D)

Who amongst the following is the current

(13)

69. F=foifed & @ oW s & v s=iew =

Mahatma Gandhi
B.R. Ambedkar
Alluri Sitaram Raju

ar o1 ? p

A) T EE —

(B) WHgIcHT Tieft
(C) _=ft.3TR. g

D) 37l Hiarm TS

C

70. Fafofed & @ 9 adom o fvg § @

President of the World Bank ? T B 2
(A) Jim Yong Kim A g g ey
(B) Lewis Preston ~«B) Afem =
(C) Barber Conable (C) _WTeR ®Hea
(D) Paul Wolfowitz ﬁ@)( Ui Fepifagst
Mushrooms are an example of 71. TO3=Y fHas 3qI8T % 7
" (A) Virus @A) =@ (fawmy) &
(B) Lichen B) o (I%) * ‘l
(C) Fungi fo'(W‘I’% (hah) L /r’/
(D) Bacteria (D) SFAfEn (GﬁaT![) * '
From which country has Delhi Metro received 72. ﬁ@ﬁ ﬁ'{j H AT yem @33’(—7\'%6 W
its first driver-less train ? Fawdum §E§ it o
(A) Russia (B) South Korea &7 wg (B) ey i L—
(C) France (D) USA ©) %E| (D) J T,
The first two States in India that established 73. UG ® YuEA US TE O et IH 2 TSy
Panchayati Raj were FHI Y 9
(A) Rajasthan and Maharashtra -/Cﬂ( TR 3 RS
(B) Rajasthan and West Bengal (B) TR 3R ufeyy st
(C) Rajasthan and Andhra Pradesh (C) TSN 3R 31y wesr -
(D) Rajasthan and Punjab (D) TSR IR gaTe
The percentage of the Earth’s surface covered 74. YRd A T’Zﬁ F YA 1 fohaT gfeea 9 g3
by India is : 2°
@A) 34 (B) 44 @A) 34 (B) 44
(C) 54 D) 24 (C) 54 CR(B O Ye o e
The capital of Kalinga (the eastern province) |75.. 3T9I% % 3MHAY % SNH HA (Tl ) <6t
during Ashoka’s invasion was TSt S oft 2
(A) Taxila (B) Patliputra (A) a=fen ) Ty
(C) Ujjain (D) Toshali (€) 3I=H (D) et L~



76.

o 0

78.

79.

(©)
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RURAL DEVELOPMENT / THToT Cea

Which dialect is being spoken in Rohilkhand
and the upper Doab — the western parts of the
state ?

(A) Bundelkhandi

(B) Khari Boli

Awadhi

(D) Braj Bhasha

What are the governmental bodies at the
Tehsil level called ?

(A) Panchayat Samitis

(B) Gram Sabha

(C) Gram Panchayats

(D) Municipalities

Which is the most populated city of Uttar
Pradesh according to the 2011 Census ?

(A) Kanpur

(B) Lucknow
(C) Aligarh

(D) Bareilly

As per the report of C. Rangarajan submitted
to the Central Government recently, any

person spending over ¥ in rural

areas should not be considered pbor.
(A)
(B)
(&)
(D)

32
43
50
' 26

76.

S ST Tsg % fve 9w - AfReErs
3t 3qft Arere, § el B 2

(A) FAQUEl

B) el et

9011 1 FHVET F HER IR T F T
ST FTEE e IR HHAT § ?

(A) Wz/
)
e
Al

78.

(C)
(D)

9. Te & § Hg FER H WA B W
. e e % IEER, HE e
o & § 2 T e @9 H@l
2, 30 Tl TE FHA I |
W 82—

(B) 43
(€) 50
(D) 26
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80.

81.

82.

83.

i R C

From which of the following towns of Uttar

Pradesh are maximum brass exports done ?
(A) Moradabad

(B) Varanasi

(C) Kanpur

(D) Lucknow

Uttar Pradesh is divided into how many

districts ?
(A) 75
(B) 85
(C) 95

(D) 65

Under the Ambedkar Vishesh Rozgar Yojana
(AVRY), the unit cost of the project will not be
lower than

(A) ¥ 60,000
(B) < 75,000
(C) < 1,00,000

(D) ¥ 50,000

The , Sultanpur has taken the
initiative to resolve the problem of centralised
database for the efficient working of the social

forestry scheme.

(A) National Sample Survey Organisafion
(B) District Industries Centre

(C) Regional Rural Bank

(D) National Informatics Centre

80. I W & Fr=feifiad wed & @ frew o
Icqrel sl Afreray fAafa foran Smar 2 2

& gEEE 7
(B) 9RO

(C) HHAR
(D) dET>

81. I Yew foraa Tl o fawfoma 2 2
AT T R

(B) 85
(C) 95

(D) 65

82. FreEw a9y UTFIR IS (AVRY) & 3=id,
i i 3R A g Fq TEl
FHT =R |

(A) ¥ 60,000
By % 75,000
(C) ¥ 1,00,000

(D) ¥ 50,000 L

83. , GoagE 3 TTHTNTS Ffehl =
# FIA SR F T FEpd seEE H
THET T GUTI H 6l T8l 6 8 |

(A) T wfaest waE @ed
®) forem sam F
(©) &g g S
B TN g F3 (WA et dX) |



85.

86.

87.

88.

(16)

Where are the headquarters of the North
Central Railway located ?

(A) Jhansi

(B) Allahabad
(C) Ghaziabad
(D) Agra

Which is considered as the oldest city of the
world located in India ?

(A) Kushinagar
(B) Varanasi
(C) Agra

(D) Sarnafh

districts are famous for leather
goods.

(A) Agra and Kanpur
(B) Sonbhadra and Allahabad
(C) Jaunpur and Ramnagar

(D) Moradabad and Lucknow

What is the ratio in which the Indira Awaas
Yojana (IAY), a Centrally sponsored ‘scheme,
shares cost with the State Government ?

(A) 80:20
(B) 75:25
(C) 66:34
(D) 90:10

Which orie is the record of land cultivation ?
(A) Girdawari

(B) Panchnama

(C) Jamabandi

(D) Khatouni

84.

85.

«AB)

_&D

86.

87.

88.

QS-2

ITTET Y 1 GO el (R § 2
(A) =

(B seEETE L

(C) WfaTETE

(D) AT

wyra # o fea s %1 favg &1 @98 @
TG HAT M 2 ?

(A) FAER
FRIOTER
(C) 3
TS

e H Fegel & for wiag f
2

Maﬁtww

(B) ®MWg 3R IATREIG
(C) SHYE 3R THFFR
(D) TEETE R dES

e e IS (AY), S T H5 gErd
TrsaT 2, 1 UG SR &A1Y AN G99

ST T R 2
(A) 80:20

7 75:25 "

(C) 66:34

.5 1 frople S 2 ?
@A) freEd

(B) =AM

(C) HTE!

By
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89. What proportion of a bigha is one biswa ? 89. U forean 1 weh fen & 1 37U @ ?
(A) One-half (A) 3ATHEn
(B) '~ One-fourth (B) TS
(C) One-tenth o
(C) Uh-cHdl
(D) One-twentieth 2
) Weh-sflEar v«
90. 1 acre is equal to how many square yards ?
(A) 4840 90., 1UHg fohaq ol 7T & ST BT @ 2
(B) 2025 /(7)(4840 L
(C) 4425
(B) 2025
(D) 3025
(C) 4425
(D) 3025
91. What is the full form of NREGP ?
(A) National Rural Entrepreneurship
Guarantee Programme 91. T.ILINA. (NREGP) &1 q0T &9 &1 & ?
(B) National Rural Education Guarantee (A) TS Ty IYET TR FEHE
Programme
(B) TS oy T3 et Hrishn
(C) National Rural Employment Guarantee
Programme W Trefior ST TS s L
(D) National Regional Employment (D) TS T ST T hrishd
Guarantee Programme '

92. According to Indian Public Health Standards 92. Torem sreamert % forg '“.[E“q Al Te II'FI@
for District Hospitals, every district having a & SFER, 10 ARG SHEEAT et g et d
population of 10 lakhs should have at least FA-3-% forae feeat g9 =fey 2
how many beds ?

(A) 195
(A) 195 g
(B) 300
(©) 350 (G900
(D) 50 (D) 50




93.

94.

95.

96.

(18)

What incentive is given under the subsidy
scheme for Domestic Individual Solar Water
Heater, in the State of Uttar Pradesh ?

(A) Tax concession

(B) Rebate .

(

©)

Tax exemption
(D) Discount

What is the main commercial crop of Uttar

Pradesh ?
(A) Wheat
(B) Sugarcane
(C) Corn
(D) Rice

A gram panchayat consists of how many
members, elected from the wards of the
village, who are called “panch” ?

(A) 5to20

B) Ttol7

(C) 10to20

(D) 5to9

The appoints the Chief Justice of

the High Court of Uttar Pradesh.
(A) Prime Minister
(B) President of India

(C) Chief Justice of the Supreme Court

(D) Governor

QS-2

o] SARFTE I oot deX & forg srfeles s
o F A I TeW TST H FAT WHrE
fémm ST 2 2

a) = fEmEd

(B) EIEI\/

(C) o ghe
/€D>/¥

93.

94, I NN I Y@ HAGEIRH HEA T 8 ?
= el
(C) ==l
(D) =S
95. TH UM Y9EA ¥ AW F et & I g R
T B &, e ‘o= w2 2
@ 5820
7%17\/

10® 20
589

(B)
©

(D)

96. I W F I= AWEE F GEI AR H

fafs__ waIR |
(A) wEH HAl
—®) w1
(C) Hal= TR H §Ed A&
(D) TSAITA
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97. There must be a minimum of how many gram |97. 3T Yo% ¥ T ¥ § =Fan fohat U G h

Sl la A v s yensin Uit Pradesh ? Yo () Bt =l 2
@ 3 &y

B) 4 ' /® 4

e ©) 6

o o) 20—

98. T Ffth % [OIC U=Id 1 TG S H! <[Tan

98. What is the minimum age limit for a person to

be a member of the panchayat ? 317y Himn feeft & 2

(A) 21years : _AK) 21 g "

(B) 25 years ol (B) 2599

(C) 35 years (C) 35a8

(D) 18years ' (D) 1899 \\

99. TEATE WIS HHEHH & HA=<rid, faened &«
99. How often wunder the Mid-day Meal aa} % W ﬁ m HT IJAThAd fa;;g

Programme, should the assessment of 3TT'°[R"[ o fpar ST ET%\'{ ?
percentage of underweight children at school

level be done ? : (A) ’ Sefafieh \/'

(A) Half-yearly : /é‘)V Furiees

(B) Quarterly (C) df¥s

(C) Yearly /D) iy

(D) Monthly
100. TH.S.TH.3XE.S.U. (MGNREGA) % 3A=diid

el WS & A H, S IR TST FHR
g1 fope e fftestor w1 eumE

100. In case of material component under
MGNREGA, the funding is done by the

Central and State governments in the ratio of B |

(A) 100:0 (A) 100:0
(B) 50:50 ' (B) 50:50
C) 25:75 (C)"26:75

(D) 75:25 ' veb(75:25 | W

www.eRojgarNews.com
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9.

REQD THE FOLLOWING INSTRUCTIONS CAREFULLY :
1.

Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not
liable to be changed.

. The candidates should ensure that the Answer Sheet

is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.
Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet Number and Answer Sheet Number),
another set will be provided. .

The candidates will write the correct Test Booklet |

Series and Number as given in the Test Booklet in the
Attendance Sheet. .

Candidates are not allo@ d to carry any pencil,
textual material, 'printerg,qé written, bits of papers,
pager, mobile phone, electronic device or any other
material except the Admit Card inside 'the
Examination Hall/Room.

Each candidate must show on demand his / her Admit
Card to the Invigilator.

. No candidate, without special permission of the

Superintendent or Invigilator, should leave his /her
seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed and put his/her left-hand THUMB impression
on the Attendance Sheet will be deemed not to have
handed over the Answer Sheet and dealt with as an
unfair means case. The candidates are required
to put their left-hand THUMB impression in the
space provided in the Attendance Sheet at the
time of handing over their Answer Sheet to the
Invigilator on duty.

Use of Pencil/Electronic/Manual Calculator
prohibited.

is

10.The candidates are governed by all Rules and

Regulations of the Department with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Department.

11.No part of the Test Booklet and Answer Sheet shall

be detached under any circumstances.

12.0n completion of the test, the candidates are

allowed to take away this Test Booklet and the
Candidate’s Copy of the OMR Answer Sheet with
them.

13.The OMR Answer Sheet consists of three copies, the

Original Copy, the Office’s Copy and the Candidate’s

i

10.

11,

12.

13.

FrfarRan fiv eo= & W

mm%%ﬁﬁwﬁw;ﬁ;&ﬁﬁﬁaﬁw%

JAfShd A & o1E 3T g1 &I AT Fhal 7 |
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%émmwﬁﬁﬂﬁam%wﬁﬁﬁmﬁq
| ,
e Td IR YA HI T W,
CHIED ft ofifcafa & (Saer wliam
T I 0 I ge § e f ol w )
gad vhe gfeae Suoey a1 SO S |

Eritl T & 78 when yfean @is 3 @@ =t
Thenel Tt A @ wh-u & RS |
qhaef ZT TET Te/EE § AN ¥ Rew

5 wer i @, wea @weh, gtd =
FAfANgd, SIS $I gfedl, 9oL, HEEA BH,
31 39H I1 Rl 3 YR 6 gl B @
I A7 3T HE A FES T8 2

P® M R & e, fias 1 s w@n-as
femmd |

srtftarss a1 e it famiy smmfa & fomm 18
iieeff 79T TUE T B |

FRia Fhgs w1 J9a s w3 fr fomr gfemeff
wen g@ T ot | AR fe wherff 3
FIT-u3 T gEaner TE fopu 3t aTd 719 % TS &
o 48 @ & 37 T S R osER W ww
T dter™n ? 3R FE gfud TEd &1 AHAr /A
@ |
gfteneff srua =g gy % S @ v g
AfRumeE R aEE e | :

oite e § ofeRw % fog wheneff fwm & wf
et we fafemi g fafig 8 1 sgfe @edl &
ot A w1 Huen faam ¥ Faw @ ffee %
AR B |
et T § when gt R I 9 H HIE WA
3 7 W |
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Cc_)py. Do not separate or displace them. Invigilator wa gheneff gfd | 32 wf 3o T H | FE
will separate the three copies carefully affer the e qham 89 & T gfgt
examination is over and hand over the Candidate’s ¢ %
Copy to the Candidate and seal the Office’s Copy in a Wl I | U1 o wrarefl 9‘%3‘8{ Ll 3 37
separate envelope. oo # anifeg gfa 1 die = %ﬁ |
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